# ACHD Committed to Service

#### Ada County Highway District

## Procurement

Jesse Goodpasture, Procurement and Contracting Administrator 3775 Adams St., Garden City, ID 83714

#### **EVALUATION TABULATION**

PWB No. CT222-16 2022 Microseal

RESPONSE DEADLINE: June 22, 2022 at 3:00 pm Report Generated: Wednesday, June 22, 2022

#### **SELECTED VENDOR TOTALS**

Vendor	Total
Boswell Asphalt Paving Solutions	\$942,761.30
ESTIMATE	\$955,243.75

### SCHEDULE 1, MICROSEAL (2022), 522041, MIC222

Base Bid. Agreement will be awarded solely on the Base Bid amount.

						Boswell Asphalt Paving Solutions		MATE
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	1103.4.1.B.1	Traffic Control Signs	2400	SF	\$4.95	\$11,880.00	\$10.00	\$24,000.00
Х	1103.4.1.C.1.C	Traffic Control Barricades, Type III	28	EACH	\$385.00	\$10,780.00	\$125.00	\$3,500.00
Х	1103.4.1.D.1	Traffic Control Drums	400	EACH	\$22.00	\$8,800.00	\$20.00	\$8,000.00
Х	1103.4.1.H.1	Portable Tubular Markers	375	EACH	\$11.00	\$4,125.00	\$15.00	\$5,625.00
X	1103.4.1.1.1	Traffic Control Flaggers	1600	МН	\$38.50	\$61,600.00	\$40.00	\$64,000.00

				Boswell Asphalt Paving Solutions		ESTIMATE		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	1103.4.1.J.1	Traffic Control Maintenance	400	МН	\$40.70	\$16,280.00	\$42.00	\$16,800.00
Х	1134.03.03	Striping Detail #3 (Paint)	200	LF	\$0.13	\$26.00	\$0.75	\$150.00
X	1134.03.07	Striping Detail #7 (Paint)	5700	LF	\$0.52	\$2,964.00	\$0.75	\$4,275.00
X	1134.03.09	Striping Detail #9 (Paint)	10100	LF	\$0.68	\$6,868.00	\$0.75	\$7,575.00
X	1134.03.11	Striping Detail #11 (Paint)	105	LF	\$0.13	\$13.65	\$0.75	\$78.75
X	1134.03.12	Striping Detail #12 (Paint)	440	LF	\$0.13	\$57.20	\$0.75	\$330.00
X	1134.03.14	Striping Detail #14 (Paint)	715	LF	\$0.13	\$92.95	\$0.75	\$536.25
X	1134.03.15	Striping Detail #15 (Paint)	27225	LF	\$0.52	\$14,157.00	\$0.75	\$20,418.75
X	1134.03.17	Striping Detail #17 (Paint)	1260	LF	\$0.25	\$315.00	\$0.75	\$945.00
X	1134.05.21	Pavement Markings (Thermoplastic)	8720	SF	\$8.69	\$75,776.80	\$9.00	\$78,480.00
X	2010.4.1.A.1	Mobilization	1	LS	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00
X	SP 08143	Type II Micro Surfacing	80000	SY	\$4.25	\$340,000.00	\$4.25	\$340,000.00
X	SP 11551	Pedestrian Temporary Traffic Control Plan	5000	FA	\$1.00	\$5,000.00	\$1.00	\$5,000.00
X	SP 11554	Construction Staging And Traffic Control Plans	1	LS	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
X	SP 29901	Towing	2000	CA	\$1.00	\$2,000.00	\$1.00	\$2,000.00

						Boswell Asphalt Paving Solutions		ESTIMATE	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
Х	SSP 06013	Storm Water Management Plan Preparation & Approval	1	LS	\$500.00	\$500.00	\$1,500.00	\$1,500.00	
Х	SSP 11400	Obliterate Pavement Markings	8720	SF	\$1.79	\$15,608.80	\$1.75	\$15,260.00	
Х	SSP 11457	Record Of Existing Pavement Markings	1	LS	\$32,630.00	\$32,630.00	\$5,000.00	\$5,000.00	
Total			<u>'</u>	<u>'</u>		\$629,474.40		\$632,473.75	

## SCHEDULE 2, MICROSEAL (2022), BID ALTERNATE, FRANKLIN RD, COLE RD TO ORCHARD ST, 522041, MIC222

This is an alternate section of roadway. The Bid will be based on the Base Bid only.

				Boswell Asphalt Paving Solutions		ESTIMATE		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	1103.4.1.B.1	Traffic Control Signs	800	SF	\$4.95	\$3,960.00	\$10.00	\$8,000.00
Х	1103.4.1.D.1	Traffic Control Drums	225	EACH	\$22.00	\$4,950.00	\$20.00	\$4,500.00
Х	1103.4.1.H.1	Portable Tubular Markers	225	EACH	\$11.00	\$2,475.00	\$15.00	\$3,375.00
Х	1103.4.1.1.1	Traffic Control Flaggers	1120	МН	\$38.50	\$43,120.00	\$40.00	\$44,800.00
Х	1103.4.1.J.1	Traffic Control Maintenance	280	МН	\$40.70	\$11,396.00	\$42.00	\$11,760.00
X	1134.03.03	Striping Detail #3 (Paint)	600	LF	\$0.13	\$78.00	\$0.75	\$450.00

				Boswell Asphalt Paving Solutions		ESTIMATE		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
X	1134.03.07	Striping Detail #7 (Paint)	6650	LF	\$0.52	\$3,458.00	\$0.75	\$4,987.50
Х	1134.03.09	Striping Detail #9 (Paint)	100	LF	\$0.68	\$68.00	\$0.75	\$75.00
Х	1134.03.12	Striping Detail #12 (Paint)	150	LF	\$0.13	\$19.50	\$0.75	\$112.50
Х	1134.03.15	Striping Detail #15 (Paint)	1250	LF	\$0.52	\$650.00	\$0.75	\$937.50
Х	1134.05.21	Pavement Markings (Thermoplastic)	1630	SF	\$8.69	\$14,164.70	\$9.00	\$14,670.00
X	2010.4.1.A.1	Mobilization	1	LS	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00
Х	SP 08143	Type II Micro Surfacing	45000	SY	\$4.25	\$191,250.00	\$4.25	\$191,250.00
Х	SP 11551	Pedestrian Temporary Traffic Control Plan	5000	CA	\$1.00	\$5,000.00	\$1.00	\$5,000.00
Х	SP 11554	Construction Staging And Traffic Control Plans	1	LS	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00
Х	SSP 06013	Storm Water Management Plan Preparation & Approval	1	LS	\$500.00	\$500.00	\$2,000.00	\$2,000.00
Х	SSP 11400	Obliterate Pavement Markings	1630	SF	\$1.79	\$2,917.70	\$1.75	\$2,852.50
Х	SSP 11457	Record Of Existing Pavement Markings	1	LS	\$16,280.00	\$16,280.00	\$5,000.00	\$5,000.00
Total						\$313,286.90		\$322,770.00

## VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Boswell Asphalt Paving Solutions	ESTIMATE
Bidder's Information	Pass	No Response
Address, City, State and Zip	Pass	No Response
Contractor Public Works License Number	Pass	No Response
State of Domicile	Pass	No Response
Bidder's person to contact for additional information regarding this proposal	Pass	No Response
Bidder's Phone Number	Pass	No Response
Bidder's Fax Number	Pass	No Response
Email	Pass	No Response
COMPLIANCE CERTIFICATION	Pass	No Response
Bid Security	No Response	No Response
Bid Security	Pass	No Response
Electronic Bid Bond	No Response	No Response
Bid Security	Pass	No Response
Proposal Information	No Response	No Response
Proposal Statement Confirmation	Pass	No Response
Required Sub-Contractor Information - Type of Work, Name, Address, and License Number	Pass	No Response
Authorize Representative Signature	Pass	No Response